0] 0 0
A U ~
e :‘ } DU DVATIC
Features:
J/Claws Grip For Strength
-
<Wings For Strength and Vibration /
Resistance \
JCore Expands For Additional : v
Holding Power &
SIZE: #6 #8 #10
Ul oaae 38 WMlanleas : : k-
rlow 18 Works?  woest Varsails 20
s Lo E DRYWALL BRICK CONCRETE
: 0ad Cz LEGEND
BN [ == e e
HOLE1/4" | screw #6 | #6 Beige TripleGrip” | 65L bs ;-IGLbs 240Lbs 43"01?! T2 ""

HOLET/4" | screw #8 | 28 Grey TrieGrip™ | 70Lbs | 115Lbs | 275Lbs | 500Lbs } J
HOLES/16"| screw #10 | #10Blue TripkeBrip™ | 90Lbs | 150Lbs | 400Lbs |800Lbs|| Pull [Shear

Load | Load
HOLE3/8" | screw #1.2 |#12 GreenTrpleGrip™ | 110Lbs | 2001 bs | 500Lbs | 900Lbs

CATNO  UPC  SCREWSIZE DRILLSIZE LENGTH COLOR STD SLEEVE MSTR WT/STD UNIT

6 81643 #6 1/4' 1-1/4"  Beige 100 500 4000 0.

8 81644 #8 1/4° 1-1/4"  Gray 100 500 4000 097# C
10 81645 #10 5/16" 1-1/2"  Blue 50 250 150010

12 81646 #12 3/8" 1-1/2"  Green 50 250 1500 1.23# C

L.H. Dottie Company
Commerce, CA 90040
lhdottie.com



Grip For Strength

[V | Wings For Strength and Vibration
Resistance

Core Expands For Additional
Holding Power

How It Works!

(Ll

f”!r

SIZE: e

Most Versatlle Works In:

&

LA ol e CL S B B R B

0 !
vttt 28§
i o
I o R R i
il B = AE 0 R i ( ll FRE i i
AL Sovars 2D A0 Bve Tyl T | A0LEs [V S0 | 400 e
HPETAT SO i

:he| Pull (Shear
| Load | Load
s




Dottie Exclusive

iiple Grip

[poestl, .

“lDottie Totokix | A

S 714 Ao Kl S Siras
= (-
.-."

i

Item Number UPC Description
TG6K 82730 [#6 Anchor Kit Phillips/Slotted #6 Beige Triple Grip Anchor
TGB6KHX 82732 |[#6 Anchor Kit Hex/Slotted #6 Beige Triple Grip Anchor
TGBKSQ 82731 [#6 Anchor Kit Square Drive #6 Beige Triple Grip Anchor
TG8K 82733 [#8 Anchor Kit Phillips/Slotted #8 Grey Triple Grip Anchor
TG8KHX 82735 [#8 Anchor Kit Hex/Slotted #8 Grey Triple Grip Anchors
TG8KSQ 82734 |#8 Anchor Kit Square Drive #8 Grey Triple Grip Anchors
TG10K 82727 [#10 Anchor Kit Phillips/Slotted #10 Blue Triple Grip Anchor
TG10KHX 82726 |[#10 Anchor Kit Hex/Slotted #10 Blue Triple Grip Anchor
TG10KSQ 82737 |#10 Anchor Kit Square Drive #10 Blue Triple Grip Anchor
TG12K 82739 [#12 Anchor Kit Phillips/Slotted #12 Green Triple Grip Anchor
TG12KHX 82741 |[#12 Anchor Kit Hex /Slotted #12 Green Triple Grip Anchor
TG12KSQ 82740 |[#12 Anchor Kit Square Drive #12 Green Triple Grip Anchor




Two Compar

T

pottie ¥ Dottie TG10KHX

it KA P B

tment Kit Box

i

ol ] SHEAR SHEAR [IHUN EINN SR ST
Material Size Matenal Size [ i MAX SAFE SAFE
= #6 {Beige) - 3.5mm_| Polyethylenes 12
3 il £ 38 (Groy) - 4mm | Polysthylens 14
10 v # 10 (Blusa) - Smm Polyethylene 17
# 12 (Green) - Bmm Polyethylens | 3/8" | &0 30 ag 45 27 14 41 20
SHEAR SHEAR |5 FULL BHEARE
(75 Material Material . MAX SAFE | sarE | max
m Itrs Itxs kg kg
#£E6 |Beige) - 3.5mm | Polyethylens B 26 13
i~ ' pdgitell 8 (Grey) - 4mm__| Polysthylene 35 10 | 32 | 16
- 13 mm # 10 (Blue) - Smm Polyethylene | 5/16"]| 58 28 a2 A6 26 13 42 21
u #12 [Green) - Bmm Polyethylens | 38" | T4 7 121 B1 34 17 55 27
[FULL EHEAREHEAR
E Material Material B:A.FE SAFE
kg | kg | | kg |
m M| #G6 [Beige]-3.5mm | Polyethylens av 14 Fa
Drywall 58 -
U % Wallboard £ 8 (Grey] - 4dmm Paolyethylene | 1/4 fd 12 102 51 29 15 46 231
i 210 [Blus) - 5mm__| Polyethylene |516"] 88 | 44 | 154 | 77 | &0 | 20 | 70 | 35
ﬁ # 12 {Green) - Bmm Polyethylene | 3/8™ | 132 66 204 102 60 30 a3 46
R SHEAR [I[T8 LVER s ST
m MAX | SAFE | MAX | SAFE
(®] ko | kg | ko
d #6 [H-mgu] - 3.5mm Palyethylens | 1/4" [ 240 120 400 200 109 54 181 91
1 #8 [Grey] - 4dmm Polyethylene | 1/4" | 275 138 500 250 125 | 62 | 227 | 113
000 PS #10 [Elue) - Smm | Palyethylens |5167| 400 | 200 [ 800 | 400 | 481 | o1 [ 363 | 181
# 12 (Green) - Gmm Polyethylens | 3/8" | 500 250 pEul0] 450 227 | 113 | 408 | 204

L.H. Dottie Company
6131 South Garfield Avenue Commerce, California 90040
323-725-1000 Ihdottie.com




